Answers

1)  Negative – the more you run, the lower your                         time

2)  None – the two are not related

3)  Positive – the longer your foot, the higher your shoe size
4)  The cost of the apples depends on the # of apples bought; IND: # of apples; DEP: Cost 

5)  Lake Travis level depends on rain totals; IND: rain; DEP: Lake Travis water level
6)  The square miles of polar ice depends on global warming; IND: global warming; DEP: polar ice
7)    x = # lawns-independent

       y = f(x)= $ earned-dependent

	X
	Process
	Y

	0
	15(0)
	0

	1
	15(1)
	15

	2
	15(2)
	30


f(x) = 15x   Discrete graph

8)    x = # hrs. - Independent

       y = f(x)= $ charged - Dependent

	X
	Process
	Y

	0
	50+40(0)
	50

	1
	50+40(1)
	90

	2
	50+40(2)
	130


f(x) = 50 + 40x  

Positive correlation
9) Function: Yes, passes the vertical line test

    Continuous

10) Function: no (the domain value of 12 is paired with two different range values); Discrete;           D: {1,4,6,8,12,15} R: {3,5,7,10,13}                     11) )  Function: yes (each domain value is paired with only one range value, no repeating domains), Discrete; D: {-2,-3,8,9}; R: {0,9,-4}                      12)    f(2) = -1 and f(-3) = -21                              13)  Mapping, table, graph are not shown.  Is not a function because the domain value of -2 is used more than once (repeated domain).                    

14)
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Miles:  Interval:  0 to 500; scale: by 50’s

Cost:   Interval:  0 to 200; scale: by 20’s
Positive correlation, 600 miles would be about $145.

15) a = backing up fast

      b = stopped

      c = backing up slower

16)  
Time





Distance from home








